THANATT - i [des/TECHNICIAN — B [WELDER] - 9g &./POST NO.1417

1. warg-aror #/In first angle projection,
a) 33U & FW AFM (Cellel) Fo1 S g/Plan is drawn on top of elevation
b) 3cure & i dAF2M (SaTel) ST Sar g/Plan is drawn on bottom of elevation
C) 33U &HI 18 3R AFAT (Sellel) FaA1aT S g/Plan is drawn on left side of elevation

d) 3cumeT #Fr g8 3R AT (Telted) Foarar et g/Plan is drawn on right side of elevation

2. @A il HT FAAST T AAGT R A gl ST &
Intentional difference in dimensions of mating parts is called

a) fhe/Fit
b) @eaar/Tolerance
c) d&AT/Limit

d) oe/Allowance

3. 3M@-AMe F 3HR 594 AT x 841 Afadex &1 ag ........ ofic gl
Size of a drawing sheet is 594mm x 841mm. It is

a) A0
b) Al
c) A2
d) A4

4. gfAe &Fthe W R A=dlel aof @I ... ®ed g/Force acting in unit area is called

a) are/Pressure
b) g#e/Strain
c) d=adar/Ductility

d) saRar/Brittleness



5. ¥ fafest & wdifeea #r ... # #Eika forar smar §/Acetylene is stored in gas cylinders

8.

a) 3 w9/In gaseous form
b) s wa/In solid form
c) &a &9/In liquid form

d) 31fa 3=a gre/Under very high pressure

-t sater & o9 v@feNe 3% AT F &, 57 YR UItd Sarell @ ... &gl Sidr gl
When there is an excess of acetylene in the oxy-acetylene flame, the flame obtained is

called

a) @eRor sarer/Carburizing flame
b) 3iteieR® saren/Oxidizing flame
c) 3erdter sarer/Neutral flame

d) am#eg sarer/Normal flame

AT o A ST F Y ... & AffT g I ggeT gt g
In gas welding, combustion takes place by mixture of oxygen with

a) grsgrsta/Hydrogen

b) e AteFaTss/Carbon monoxide

c) @reeT sTE3iteraTss/Carbon dioxide
d) e dra/Fuel gas

gyolt desa #/In friction welding

a) T Ts TR 3R gEwr gufl §/One piece is stationary and the other is rotating

b) ar=t @s ol §/Both pieces are rotating
C) al Wi & qdafa faar smar §/Both members are preheated

d) ar @s 3raa g/Both members are stationary



9. ot & AT ... # Teh HehroT Gehrelier feheoTdst T 3UeT foham STrem Bl
A narrow beam of light is used for melting in

a) g desa/Gas welding

b) gelereleT fRoTgst desei/Electron beam welding

C) voleHT 3 desdA/Plasma arc welding

d) e faeorgs deser/Laser beam welding

10. TIG des # ...... H solagis @l Todl I I@T ST gl
In TIG welding, the electrode is held rigidly in

a) U3weI/An adaptor

b) seleeiz &d/In an electrode cap
c) @reic/In collet

d) & &9/In ceramic cap

11. TIG dosa # 3= G I HCATS T HROT ....... gl
Reason for high frequency power supply in TIG welding is

a) 9 YReT el gof/For arc start
b) =9 @I FUrRRT = gq/For stabilizing the arc
C) =9 & gReor gq/For shielding the arc

d) dese & el faRed 9raX v w3 gq/For providing additional power during welding

12. &l 1 $9RAT gee o AT ygFd FATEUR gishar ... gl
Heat-treatment process used to remove brittleness of a chisel is

a) Hore«/Hardening
b) Fa=/Tempering
C) 3wiresi/Annealing

d) samAEgstor/Normalizing



13.

14.

15.

16.

AT UAsE T TS ... & g/The term quenching refers to

a) FsAgTR/Heat-treatment
b) gsdra 3u=r/Surface treatment
c) a9 des«/Arc welding

d) 3Jerg @usA/Galvanizing

| @A AT A §U desol fhar Srar g1 fdeh ara & gfae . gl
Welding is done by applying heat on to the joint. Unit of this heat input is
a) N/mm

b) °C/mm

c) Jule/mm

d) Dyne/mm

TF 9GS F THE GUAT F dTGHT H s °C dF de & foIv 3ERTE aT # .. Fga B
Amount of heat required to raise the temperature of unit mass of a substance by unit °C is
called

a) o drefshdr/ Thermal conductivity

b) faferse FwAT/Specific heat

) e FsAr/Latent heat

d) faferse aetca/Specific gravity

AT dose 9ishamit # & fhEA YT dR Uk gelacls o181 o7

In which among the following welding processes, filler wire is not an electrode?
a) TIG

b) MIG

c) SMAW

d) SAW



17. 3oz AT fhU St W desT AT @y 3curfea dteedr & ... &gl ST gl
Voltage generated by the welding machine when no welding is done is called

a) @9 dreedr/Arc voltage

b) e gR9Y areedr/Open circuit voltage
c) fader areear/Input voltage

d) e areear/Output voltage

18. A9 Jesd & fav 3AAId dosd had F HHR ....... W AR Far Bl
The size of welding cable required for arc welding depends on

a) dosd & AU ggad AfOHdA TR

Maximum amperage to be used for welding
b) dese & faw ygeFd 3ifOehda dleedr

Maximum voltage to be used for welding
C) desd & AU yged f&ehdd ImET 991

Maximum travel speed to be used for welding
d) gerd fSeerr desa fham ST &

Material to be welded

19. Trafaf@a & & il v des aw Agr /Which among the following is not a weld defect?

a) axudar/Porosity

b) ergHe 3idfdsest/Slag inclusion
) 3r:ads/Undercut

d) ¥&a/Scab

20. 19 sav ... # grar g/Arc blows occur in

a) T desaA/Gas welding

b) 3 &a=1/Gas cutting

c) ¥pfderaet (sf8am)/Bracing
d) = 3es«/Arc welding



21. desa fhU STeldaTel ar st & Afdedfid 3R ar Selacist & g # I@a HI Seidrell desd
gfehdT & ... gl AT gl

Welding process in which two pieces to be welded are overlapped and placed between two
electrodes is known as

a) sc¢c des«/Butt welding
b) @9 desa/Lap welding
C) ¥<s des+1/Stud welding

d) ¥diec des«/Spot welding

22. farafafaa gframsit & fFa & U GATTOIGT SO FITeid Fldd H dosed & H fhdl SATar
g7
In which among the following processes, the welding is carried out in a blanket of granular
fusible flux?
a) SAW
b) SMAW
c) TIG
d) MIG

23. T IR fie & Fars 5 #Hex 3R aRem 18 #Hex &1 ofic F1 aawa Fder §7?
A rectangular sheet has length of 5m and perimeter 18m. What is the area of the sheet?
a) 20m?
b) 23 m?
c) 46 m?
d) 90 m?

24, v GAIR IJAST & HI0T HT I ... g/Sum of angles in a parallelogram is



25.

26.

27.

28.

HISOT Sarell H ... ST g /A carburizing flame has zones

a) TH/One
b) a/Two
c) dri/Three

d) =R/Four

Here-Qefele Sarelr &, 3RhdH Sarell arda = ... o gl B
In oxy-acetylene flame, maximum flame temperature occurs at

a) warerm &r 3131/The tip of flame
b) 3R i/ The inner cone
C) 3T A% & sarer #/Next to the inner cone

d) smeg e%/The outer cone

HierdiehRer SaTell & Jolell # HIEIOT arell ....... €
The carburizing flame as compared to oxidizing flame is

a) 318 &rca/More luminous
b) @& grea/Less luminous
c) FAW ¥ ¥ greda/Equally luminous

d) 3rtegAz/Unpredictable

m-ﬂ@ﬁﬁlﬂma?rmmg@%maﬁﬂvq%d A THI IYFA Fed
vEfeeta 10 offex &1 fafolsy & 3usgera iferelisted ........ gl
In a gas welding of mild steel using oxy-acetylene flame, total amount of acetylene

consumed is 10 lit. The oxygen consumption from the cylinder is
a) 5lit

b) 10 lit

c) 15lit

d) 20 lit



29.

30.

31.

32.

oAz A3 & dosd A HHATIT: TIFA Yol ... gl
For welding aluminium alloys, the polarity normally used is

a) DCRP
b) DCEN
c) AC

d) DCSP

Jes H 2G Ryfa &1 dcel ... & 8/2G position in welding refers to

a) @ure ffufa # desa/Welding in flat position

b) afasr Rufa # dess/Welding in horizontal position
c) FeateR Reufa & dessi/Welding in vertical position
d) 3faxgs Rufa & dess/Welding in overhead position

golerelel fhuTdST desel garT 10 fAfaeer Ty T TEhel Tolel il des olel & v o
JTeiarel ateed ... gl
Voltage applied to weld 10mm thick stainless steel plates by electron beam welding is

a) 6mvV
b) 60mV
c) 6V

d) 60kV

aRRTETT T o9 desd H TIFd Folaels FUh il ... & IMUR W YT frar 3 g
Electrode holder used in shielded metal arc welding is rated based on

a) drecar/Voltage
b) em/Current
c) uwferrer/Resistance

d) =rererar/Conductance



33.

34.

35.

éﬁiﬂg&?udﬁaac@dwd%ﬁv ........ ger foar arar g

In order to compensate for the weld metal shrinkage,

a) & %Ha/Root face
b) w@rar o1/Groove angle
¢) usde/Reinforcement

d) &c d9/Root gap

st 1 f&arq g/Solder is an alloy of

a) @@ 3R fest/Lead and Tin

b) fe=r 3R am@/Tin and Copper
c) #@rar 3R ara/Lead and Copper
d) ¥rar 3R Tere/Lead and Zinc

St afer 7 ... ¥ gTo & T a1 # FOrs T B
Post cleaning is necessary at braced joints to avoid

a) #eIRur/Corrosion
b) =eas1/Cracking
c) 3\ FreRer/Gas pockets

d) 3rcst/Erosion

e &1 gfare g/Torr is a unit of

a) 3mad«/Volume

b) cre/Pressure

c) fafarse ara/Specific heat
d) 3</Energy

is provided.



37. U TIATCHS STATT 10T &l FEATER Tl & ATY Sisel I T &l do8 FT IhR ....... gl
It is required to connect the end of a structural steel angle to a vertical plate. Type of weld is

a) frerc/Fillet
b) ceer/Plug
c) sce/Butt

d) ou/Lap

38. yfauer desa # g Uery ... q AT AT B
In resistance welding, the electrode material is made of

a) @resr gEard/Carbon steel
b) Ce@AfAZH/Aluminium
c) dara/Copper

d) gsEes/Tungsten

39. CoHIgH & v wgeFd iR gishar ... &/
An oxidizing process used for aluminium is

a) Jerg-elvsr/Galvanizing
b) wsEeor/Anodizing
c) uraeRoT/Parkerizing
d) & caféar/Chrome plating

40. do3T H ETFHAA ... & ®ROT grar g/Undercuts in welding is caused due to

a) fawT desa arr/Low welding current
b) 3=a desa arr/High welding current
C) desd B3 & Iadd ag=1/Wrong selection of welding rod

d) des Gt W IR glsi/Mismatch at weld joint

10



41.

42.

43.

44,

U9 desd H, HY 3N gelacls & @i faegd =@ ... & CART 3cTeef Il gl
In arc welding, the electric arc is produced between work and the electrode by

a) drecar/Voltage
b) err warg/Flow of current
c) T¥ger gferrer/Contact resistance

d) 3rfdare/Flux

Josd H TITC HN ... & HRUT A fohar Srar B
Tungsten inclusion in welding occurs due to

a) HA W selaeis TaA/Touching of electrode on work
b) $RUT AR & Eo¥ear &1 aRadie &el/Adding tungsten through filler wire
C) 3MuR o1d & <I¥e &I faudIs=l F=1/Segregation of tungsten from base metal

d) 3rara sRuii/Unknown reasons

MIG desd & YgFd URT aurer ........ gl
The current polarity used in MIG welding is
a) DCRP

b) DCSP

c) AC

d) 3ud=a @ef/All the above

U §A dosel 4RI AR dteear & fav dos g @lss ... & ATH # 3f¥edH gl

For the same welding current and voltage, the weld pool width is maximum in the case of
a) DCRP

b) DCSP

c) AC

d) swd=a @ef/All the above

11



45.

46.

47.

T dosd H AT T odls Tl X ........ H gRadsT gIar gl
In arc welding as the arc length is varied, changes

a) drecar/Voltage
b) emr/Current
c) Imar der/Travel speed

d) ar sxor gT/Wire feed rate

Teh siohe T Solliaadl 3M@UT e dos &1 3SR 10 ATy fa@rar §1 10 Afaefer fir [{ar
o Bl

Engineering drawing of a bracket shows size of the fillet weld as 10mm. The dimension
10mm is

a) des Hr wers/Length of weld
b) des & dters/Width of weld
C) @5 TYeIar/Throat thickness

d) des & arawe/Area of weld

Th Jo8e] CEDIAY H Folllcdeld ATHAETOT §| SHHT AT ... |
A welding transformer has drooping characteristics. It means

a) Jg Us PR 9nT ura’ Hid g/lt is a constant current power source
b) g v R dieear grax &id g/1t is a constant voltage power source
C) g Ts IR YRT 9raR T g/t is a varying current power source

d) I8 ue PR duA grak |id g/t is a constant temperature power source

. Teh THRIUT &I TRcaleh¥OT she, IR ... 9T g/Center of gravity of a triangle lies at

a) dha/lts center

b) #ex ufawde/Intersection of its medians
c) 3MuUR ¥ er fagrs/2/3 from its base

d) 3R & ue fagrs/1/3 from the base

12



49. TIG desal & s e & solercis &1 gl &1 ...... &gl ST Bl

50.

51.

52.

In TIG welding, distance of the electrode from nozzle exit is called

a) sfg:aor/Protrusion
b) sfgder=r/Projection
c) s 3m3e/Stick out
d) sifaearas1/Overlap

gfekiy ¥ dess A....../In resistance spot welding,

a) IR selacIs TAIAA gl § iR A selacis 3ae | ¢
Upper electrode is moved and lower electrode is stationary
b) T geloals ToIAT glaT & 3R FUR Felrals 3rael @l §
Lower electrode is moved and upper electrode is stationary
C) Gl Solerdls TIATT &t §
Both electrodes are moved
d) et seleets rae g §

Both electrodes are stationary

PQR & faTamiia &7 .... g/The expanded form of PQR is

a) urfeaR Farfafteehesr Y&aia/Procedure qualification response
b) wrifaax Farfarfeerers Rewrs/Procedure qualification record
c) urdifeax Farfafe Y&ata/Procedure quality response

d) R Farfafe Rers/Procedure quality record

M24x2 & sreg 9fder & o Rad 3R ... &l
Blank size for external threading of M24x2 is

a) 20.784
b) 22
c) 23
d) 24

13



53.

54,

55.

56.

Ife gt °RT arRd v FAT § 3R Gog@ Hor ot AW g, o T gl
If all the four sides are equal and opposite angles are also equal, the quadrilateral is

a) @ACR wgssi/Parallelogram
b) @#Eregsis/Rhombus
C) Iqswhelw/ Tetrahedron

d) Tsraret/Triclinic

g & g R TIRYAT foig qor Toe@n & & &1 Hor L R

The angle between point of tangency to the centre of the circle and the tangent is
a) 45°

b) 90°

c) 135°

d) 180°

ey BT v W & srek §/How many degrees is equal to one radian?

a) m/360°
b) n/180°
c) 180%x
d) 360%x

(I+ cot?0) ......... & gaA &/(1+ cot?0) is equal to

a) Cot’O
b) Cosec? ©
c) Sec?©
d) Tan’O

14



S7.

58.

59.

60.

ARG ATeTeh fafadersT & @R, 100H6/g5 &1 Ao ... gl
According to Indian Standard Specification, 100H6/g5 means

a) emoe & T gegar Ao 63k fdax & e 5%

Tolerance grade for shaft is 6 and for hole is 5
b) faax & forw Fegar 4ol 6 34k emwe & v 5§

Tolerance grade for hole is 6 and for shaft is 5
c) emwe & o 3ifdas d@wr 100.6 3R faax & fow 10058

Maximum limit for shaft is 100.6 and for hole is 100.5
d) faax & fow AfR&da d@ar 100.6 3R emwe & fow 10058

Maximum limit for hole is 100.6 and for shaft is 100.5

ar desXt & 20 s s & fow 3 fda @@ 6 desxi & 30 UH o s & fow fahder
AT AEm?
Two welders need 3 days to produce 20 brackets. How long does it take to 6 welders to

produce 30 such brackets?
a) 0.75day

b) 1day

c) 1.5day

d) 2 day

T 30 AT g 3R 50 A Fag arell 3TATd &7 gdell A & st #r Afeier 3k
dogel gaRT |k foham ST g1 el g e &7 3R ....... gl

A thin walled steel cylinder of diameter 30cm and length 50cm is to be fabricated by rolling
and welding. Size of sheet to be cut is

a) 30 cm x50 cm

b) 94.2 cm x50 cm
c) 157 cmx 30 cm
d) 706.5 cm x50 cm

fega iRy desa & Seurfed a9 ... T AT &
In electric resistance welding, heat generated is proportional to

a) gfeRry & gat/Square of resistance
b) e&mT @1 F@r/Square of current
c) THI FH gdt/Square of time

d) = areear/Arc voltage
15



61.

62.

63.

64.

TATe desed H Tolc HT Hol fAehedd fheaRT AR des & &g & gl ... gl =gl

In spot welding, the distance between the nearest edge of plate and center of weld should be
equal to

a) ¥Tic & cgr/Diameter of the spot
b) wwic & zarg & 1.5 7=1/1.5 times diameter of the spot
C) ¥TWic & =41d ¥ garr/2 times diameter of the spot

d) wwic & =gr@ ¥ e 9=1/3 times diameter of the spot

dosel Y AT A Well ¢auidr dd Hel el § 5
The welding set up is said to have straight polarity, when

a) I, Wﬁﬂﬂ%ﬂﬂ@gﬂﬁaﬂ'{ Soldels ¥, RUT effieldl & Ty

Work is connected to positive terminal and the electrode holder to the negative terminal
b) o, ®oT efAcTel & WY T I & AR FolTels e, U cfAael $ AL

Work is connected to negative terminal and the electrode holder to the positive terminal
C) o, um e F WY 3T M & IR sAIS du, sq@ah @

Work is connected to positive terminal and the electrode holder is earthed
d) o, ®oT efdcer & AT SIST 3 & 3N Felercls dereh, sEufhd &

Work is connected to negative terminal and the electrode holder is earthed

fthole desel # so TYeral H ....... ¥ e Srar g/
Throat thickness in fillet welding is given by

a) dez & 3MHR/Size of weld
b) dcs & 3meR & 0.5 71/0.5 times size of weld
C) des & 3mwR & 0.707 31A1/0.707 times size of weld

d) des & 3mwR & 0.866 -11/0.866 times size of weld

gHise dosal # UIFA YHST .. HT AHOT
Thermite used in thermite welding is a mixture of

a) Fre-drer AR eg-3rFarss/Charcoal and iron oxide

b) re-aiem 3R TerfAfaz#/Charcoal and aluminium

C) eig-3iferarss AR Yefafaza#/Iron oxide and aluminium

d) re-rger, oig-itearss AR CqfAta#/Charcoal, iron oxide and aluminium

16



65.

66.

67.

Tsh A9 desod Soiaeis & E6010 & &7 & afafcse forar mar &1 39 [fades & g 60 ...
T Tefid T gl

An arc welding electrode is specified as E6010. In this specification, the number 60 stands
for

a) 39T A AU Searer gr1/Current to be used
b) selagrs Fr erfiFd/Strength of the electrode
c) desa fEufa/Welding position

d) seclegis 3maRoT gwR/Electrode covering type

dese gelfie # ftheex Tole fdst foT o 81 4 fAfoefier e ara &1 goerels & a1y 391 &q
ey Tolc & BRIRS (A3T) ......... gl
Welding helmet is provided with filter plate windows. The shade of the filter plate for use

with electrode up to 4mm diameter is
a) No.10
b) No.12
c) No.14
d) No.15

100A erT g2r 20V & 1Y 919 dese fhar Sirar g1 T 9T emar 37 @7 96y ... gl
An arc welding is done with 100A current and 20V. Power applied on to the joint is

a) 2000 Watts
b) 120 Watts
c) 2000 Jules
d) 120 Jules

68. Tsh dosel ATFd T HT 3YfE ASheT (P TH) ... R 3meiRa gl

Duty cycle of a welding power source is based on

a) faetE grT/Output current
b) feet# areear/Output voltage
c) faaeh emr/Input current

d) fasehr areear/Input voltage

17



69.

70.

71.

72.

30cth 3 warg & & A1 A9 deseT A Sirar g1 lpm & FA@ded A9 yarg & ... gl
Arc welding is done with a gas flow rate 30cfth. Equivalent gas flow rate in Ipm is

a) 60.1

b) 30.1

c) 18.1

d) 14.1

vs Afesa AR @1 Ty awe 30 fAfawie &1 38R at afdd 900N/mm?E| |@ftr & s
dET &THCT ......... gl

A welded specimen has 30mm cross-sectional area. Its tensile strength is 900N/mm?, Load
carrying capacity of the joint is

a) 30N

b) 870N

c) 930N

d) 27000 N

Sotiferadl 3INWUT # T fheic des 1 (80) 40 & &7 # gomar = g1 80 &1 Aded ....... gl
A fillet weld is shown as (80) 40 in the engineering drawing. 80 stands for

a) des &r wers/Length of weld

b) dest & & @1 gfi/Gap between welds

C) des &I wars 3R 39 Fr F@rs/Length of weld and length of gap
d) 9R$ # des & «ers/Length of weld at start

Teh TR A grafAs o O dr Fear 200 § 3R gfadee 9 10 Bl 3eR Aaeh amr 10A
g, ar @ arr . R
In a transformer, number of turns in the primary is 200 and that in the secondary is 10. If the

input current is 10A, output current is
a) 200A

b) 100A

c) 1A

d) 0.5A

18



73.

74.

75.

76.

Tfed faur W U desd CERIHAT T ITARET FAT SATAT §1 3R 3T T7T W 9rr 20ms 3R
3 FFF ) 30ms §, o H Arssher T IR gl
A welding transformer is used in pulsed mode. If current on time is 20ms and off time is

30ms, frequency of output cycle is
a) 1.5Hz

b) 20 Hz

c) 50 Hz

d) 600 Hz

3R TH U3 IR omam 3= o P’ §, Rz &1 gegas ‘m’ § 3R 3 & aa®or a” g, o
fArafaf@a & sia-ar a@r g?

If ‘P’ is the force acting on a body, ‘m’ is the mass of the body and ‘a’ is the acceleration of
the body, then which among the following is true?

a) P+ma=0

b) P-ma=0
c) Pxma=0
d) P/ma=0

1 fFeame geadATT FT U s 10 dovs & fawer ¥ 10 Aex 9fa dvs &1 391 gIffd T &,
ar e Afas Folr ... gl
When a body of mass 1kg attains a velocity 10m/sec from rest in time 10s, then the kinetic

energy of translation is
a) 981 Jules

b) 100 Jules

c) 50 Jules

d) 10 Jules

2 fFatamd geaAT &1 v 3 ¥dg ¥ 10 Alex F915 W foH & @ ¢ s ganr aika e

e B
A body of mass 2kg is resting at a height 10m from the ground. Energy possessed by the

body is

a) 20 Jules

b) 196.2 Jules
¢) 2000 Jules
d) 19620 Jules
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77,

78.

79.

3G A AT I1G71 goEF F&TAT Telieh\/\/ &1 38 3T8T Ra&AT ... &l
Surface roughness symbol shown in the drawing is\/\/. Corresponding Ra value is

a) 8um to 25um

b) 1.6um to 8um

c) 0.025um to 1.6pum

d) 0.025um / Less than 0.025um

FIeeT ST &g 9l & v 9erd Hig FE&r ... gl

For carbon steel pressure vessels, material code number is
a) PltoP1l

b) P21 to P30

c) P31ltoP35

d) P43 to P47

AR feam o afFaw gEAArd A grediE gl
Reading in the vernier micrometer shown below is
] =T X
o IS——10 B
ITIIITITTTTTTIITTITT; 45 \<)<A/>\
§\ o e \_/)\.v:\)

a) 9.923 mm
b) 9.963 mm
c) 9.563 mm
d) 9.463 mm

20



80. X 391 H v &ifas ag W 80 frelane gegdAT arely T U & @I & fow 40
TRETITH ST & 3TaRTehcll BIcl &1 3R a¥0T IO ... &l

A force of 40kg is required to move a body of mass 80kg along a horizontal surface at
constant velocity. Its coefficient of friction is

a) 05
b) 1.0
c) 2.0
d) 5.0

*kkkhkkkkikkkikkik
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